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MASS COMMUNICATION AND JOURNALISM
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains seventy five (75) multiple choice questions, each question

carries two (2) marks. Attempt all of them.

1. Media is a society helps us shape our :

(A) Future (B) Life

(C) Identity (D) None of these
2. When was the first newspaper in India published ?

(A) 1787 (B) 1857

(C) 1827 (D) 1780
3. Usually a large number of people are involved in message production in :

(A) Intrapersonal communica?;ion

(B) Inter-personal communication

(C) Group communication

(D) Mass communication
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1 mmmﬁgﬁ .................................... mﬁmm%‘
(A) wfasg (B) <EA
(C) TE=m™ (D) T F Fg 7@

2. WRa ¥ Ygen WAMR-TS FA ALY g o9 ?
(A) 1787 # (B) 1857 H
(C) 1827 # (D) 1780 §
3. ww: = wen § @m ww fuiv ¥ fE wER w9 E 2
(A) SFandafEs g
(B) sFadafsd HER
(C) THE F9

(D) SHEER
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4. The name of George Gerbner is associated with which of the following

theories ?
(A) Reinforcement Theory
(B) Cultivation Theory
(C) Catharsis Theory
(D) Participative Communication Theory
5. Who was the founder editoxf of ‘Uddant Martand’ newspaper ?
(A) Jugal Kishor Shukla
(B) Ambika Prasad Bajpai
(C) Bhartendu Harischandra
(D) Raja Ram Mohan Roy
6. When was the Delhi Station of All India Radio opened ?
(A) April, 1937 (B) August, 1947

(C) June, 1936 (D) January, 1936

T.B.C.: 23/15/ET—III 1



4 fr § A frm oo @ w9 TER WO 9 ¥ 2
(A) TrREHe fagm
(B) westanm fagia
(©) wufdy fag@
(D) widifgnfea w=m fasia
5. ‘A AEvE' % FEUE WIRE BA 4 7
(A) Fme v I
e
(C) e Biees
(D) TS IHEA TF
6. dfe sfear e = Reehl o3 & oRW g1 9@ ?
(A) o, 1937 § (B) 74, 1947 H

(C) S, 1936 H (D) =aEd, 1936 #
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7.  Media, like religion and politics, is an important ... of modern

India.
(A) Structure (B) Institution
() Soul (D) Journalistic accreditation-

8. Who studied the Presidential elections in United States of America in 1940

to give two step flow theory ?
(A) George Gerbner (B) Marshal McLuhan
(C) Paul Lazarsfeld (D) Evert Roger
9. ‘Rhetoric’ as the basis of better communication was emphasised by :
(A) Berlo (B) Wilbur Schramm
(C) Newcomb ' (D)  Aristotle

10. Who was the first Controller of Broadcasting in Indian State Broadcasting

Service (ISBS) ?
(A) Zulfikar Ali Bokhari (B) Lionel Fielden

(C) Mehra Masam (D) None of these
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7. Teeita 3wl 2 we @ dfem o snufm wwm W mEegel e ¥ 1
(&) FE (B) e
(C) S (D) S vEEH

8, 1940 & 3IAfE & UwHld AEI F JAHTA FE o w0 yaw gara el

fem a1 ?
(A) ST& TER ’ (B) W& TEeEd
(C) " FeRwes (D) TEE TR

9. “‘mugm (fAfeF) s =9 & q& ® 1" ™ w9 & wlowes feed fem om0
(A) & A (B) faest 4am 3
(C) =gafa A (D) & A

10. Efegm =z afewifcn ofdg § warm & w6 #3e) =8 9 7
(A) Sferar @ Fred (B) RS wiee

(C) =0 [yt M) T G =g T
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11.. When was it decided that the FM Stations will be opened up for private

players 7
(A) 1995 | (B) 1999
(C) 2010 (D) 2006

12. Direct mail advertising is often referred to as :
(A) Personal selling (B) Mail order
(C) Junk mail (D) Postal advertising
13. Reuters has invested in the Indian News Agency :
(A) Press Trust of India (B) Asia News International
(C) United News of India (D) Indo-Asia News Agency

»

14. A value that represents a typical score for a probability distribution is known

as :
(A) Limited value (B) Central tendency
(C) Critical value (D) ‘Terminal factor

T.B.C. : 23/15/ET—III 8



11 e 25w feh e @ fou @t w ol #w g ?
(A) 1995 # (B) 1999 #
(© 2010 3 @ 2006 @

19, e = TR W SN §9 A d W@ W g 2
(A) =afRrR fasea (B) T FRW
l(C)Wﬁm (D) = fag

13. Ted ¥ feg wdg O s § FEw o ?
(A) ¥ T e e (B) U =W TAITA
(C) Fwee =@ % fe (D) e =@

14, T ¥ fafoe was frefia &3 9t TFa AE F FEd o
(A) Hifga == (B) @=@ wafd

(C) wifas AA (D) fifw =
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6. In the mass manipulative model, the audience is considered as :
(A) Passive (B)  Active
(C) Aligned (D)  Critical Receptionists
16, Structuralism is derived from the works of :
(A) Octavia Paz (B) Jiirgen Hebermas
(C) David Holmes (D) Ferdinand de Saussure

{7 In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

1s correct ?

Assertion (A) : Communication Research is only confined to the elements

of transmission model.

Reason (R) : No fund is available to explore the new areas of

communication. .
(A) Both (A) and (R) are true
(8) Both (A) and (R) are true, but (R) is not the correct explapation of (A)
(C) (A) is true, but (R) is false

(1)) (A) is false, but (R) is true
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15. SEEaR # Sre-ae wen # el (teEw) = wmm Swow o
(A) fafer (B) Hf#3
(C) tfrEs (D) STEaTos W9E
16, draTEEa F1 s@muron e wE j W W ¥ 2
(A) s 99 (B) WO TETHE
(©) 2fae @) wiEArs fo dep
17.ﬁﬁ'&mﬁz‘twaﬁw(mmm(k)f@@%nsﬂz’rﬁim*
ged ¥ FEE w9 WE T ?
sfsaT (A) : UER VM BEd ZEfE AEE @ ad o wiea 8 |
FWOT (R) : S9r & 7 & § vy & fo ¥ suees 96 ¥
(A) (A) @ (R) a1 %@ &
(B) (A) 791 (R) < =& &, @fwa (A) & fag (R) T8 =imm 7dl @
(C) (A) W& 2, @fFd (R) @ ¥

(D) (A) TTEa 2, afF (R) @8 ®
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18.

19.

20.

21.

A chain of referrals to identify respondents for collection of data will result

in the sampling method known as :

(A) Snowball (B) Probability

(C) Incidental (D) Observational

One of the objectives of semiotic analysis of television is to identify and

deconstruct :
(A) National identity (B) Reality
(C) Mythic structures (D) Hype building

Newcomb’s model of communication is :

(A) linear ; (B) oval

(C) rectangular © v (D) triangular

A media Moghul, Ted Turner, started his career from :

(A) television anchoring (B) radio broadcasting

(C) print journalism (D) outdoor advertising

T.B.C. : 23/15/ET—III 12



18.

19.

20.

21.

StHE T FA ® oy 9 A ey oft € el v @ SRy seem @

TgEH & 9W g 2

(A) FElE (B) Hwre

(C) hiETH (D) IFaE

ST 3 T FTET 1 T SR e 2 qearrn ol fraifea
FEA R

(A) maﬁw e (B) Hud

(C) fruwtg (D) ®EY FA

FHiE H GER WA ¥

(A) wEE (B) 3R

(C) SRR (D) Frwmig (fawmm)

¥z =R St ww difem Tue &, 393 AT olifas & gesma # o4
(A) Tefifasa g&fn (B) e wfeswifen @

(C) fiz wifersg § (D) 3M3TeR uSaLentan |
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23.

24.

25.

Composite, component, RGB are forms of :

(A) Satellite signals (B) Video signals
(C) Audio signals (D) Studio signals
Interaction with media contents and critically analyzing them is known as :
(A) Media convergence
(B) Media literacy

(C) Media analysis
(D) Media critique

Responses of readers to a published advertisement result in :

(A) Purchasing power (B) Preference power
(C) Pulling power | (D) Promotion power
Scheme advertising ims At ........coommmmreniiinmn. promotion.
(A) Institutional (B) Creative

(C) Internal . (D) Consumer

T.B.C. : 23/15/ET—III1 14



22. Hdf9z, ¥z 3w R.G.B. fFad w1 ¥ ?
(A) 39UE HHd (By difzd 524
(C) =Affed S=&q D) wfEd fT==

23, wifeq @l = YEW, G, SEA S IWH! ACEGAHS FEE T Feam € o
(A) wifgan sfasT
(B) wifga wmaa
(C) wifzan fayerm
(D) wifgm seram

24. wawm famm & wfa w=s w1 wfatwam oftom der @m § o

(A) =iizgrdl &1 gwm d (B) wufgsa = sma =
(C) e & gua | (D) AraEd #1 sEa o
05. TN ARG W g s B i E
wﬁmm. (B) TEaIHSal
(Q)maﬁ‘m. (D) FusiEm
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26. Identify right sequencing of countries that began publication of newspapers

in the early 17th century ?

(A) England, France, Belgium, Germany
(B) France, Germany, England, Belgium
(C) Belgium, England, Germany, France
(D) Germany, Belgium, France, England

927. Match the List-I with List-II and select the correct answer from the codes

given below :
List-1 List-II
(@) Golden Mean (1) Print
(b) Spin doctoring (2)  Advertising
(¢) Crusade © (3) Ethics
(d) Psychographics (4) Public Relations
Codes :

(@ B @ (@
A) 3) 1 (2) @)
(B) 3) 4 @) (@
@ @ @ @

D) 2 (1) @ (3

T.B.C.: 23/15/ET—III 16



96. 1741 TRl H WM H UHER WHIYE S 91 29 b W@ STHEH waRy
(A) ¥, Wi, afcermm, st
(B) wiw, sl gwefe, aifesam
(C) Afeoram, T, wHAl, WiE
(D) st afesem, wiw, §d
27. g1 F I B Wy gafaw Fifeg g 2 73 @ 5 A W IR T T

g1 . wErRI
(@) Teea d9H (1 fie
(b) fem stefn (2) TEaERfEm
() wHAE | (3)
(d) wEFHITER (4) ufes e

(@ B (@ (@
(A 3 (1) (@2 @)
B) 3 @ @ @
@9 2 @ M

M @ QO @ @3
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29.

30.

31

When media is connected with reality that type of framing becomes :
(A) Analytical (B) Critical

(C) Referential (D) Mythological

Signs that possess a resemblance to their referent are considered :
(A) Indexical (B) Associational

(C) Iconic (D) Negotiable

Galtung and Ruge identified an element of newsworthiness called : !

(A) Threshold (B) Conduct
(C) Conviction (D) Ideology
The role of epistemology is emphasized in ........... iR of development.

(A) the communitarian theory

(B) the multi-step flow

(C) the diffusion theory

(D) the theory of mature

T.B.C. : 23/15/ET—II1 18



29.

30.

31

aammqmﬁﬁwmmm%ﬂwm ............................ e
it ¥

(A) faveramars (B) wHIMHS

(C) wmaferw (D) s

AT TR B TOEG @R A 9% (signs) 0 UR ST ¥ 2

(A) gHETFEa (F2fFase) (B) arqdfies (mﬁa)
(C) faemn wfaymer= (3mEsFE) (D) ey (AmfereEs)

e aq w9 7 AR 3@ & g o @ e e g 3@ frefatean 8
? fraom & wra & 2

(A) WY (99eE) (B) =R

(C) 37 favam (D) femmEm

S s # FHeR # qiaw # e i T ¥
(A) wrErEl fagrma

(B) SgaOg waE®

(C) fagro =1 fag=

(D) uitwgaas #1 g
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32. Frequency range of FM Broadcast is :
{A) 80 MHz—110 MHz (B) 88 MHz—110 MHz
(C) 80 MHz—108 MHz (D) 88 MHz—108 MHz

33. The presence of an extraneous variable in media research indicates :
(A) Relighility (B) Mobility
(C) Lack of internal validity (D) Presence of validity

34. A cut from one sound to another without breaking a continuity is :
(A) Segue (B) Harmonics
(C) Hiss | ' (D)  Timbre

35. In film making, panning shots can be described as visual ?
(A) Art (B) Convergence
(C) Speeches (D) Paradigms

36. In reporting, verification is understooq to have conformity with specified :
(A) Techniques (B) Ideals

(C) Sources (D) Criteria
T.B.C. : 231 5/ET—II1 20



32.

33.

34.

35.

36.

frafafas § | THUA. wERY # sEfs @ SEe 7 2

(A) 80 MHz—110 MHz (B) 88 MHz—110 MHz
(C) 80 MHz—108 MHz (D) 88 MHz—108 MHz
Hifean wity # feft awa == =1 Sufeafa Frefafas & | =0 <of@ & 2
(A) favassza (B)  Tiferefieran

(C) swaftw Auan =1 HH (D) A= = Iufeafa

FAESA H FR AL TH F/HES FOFHD @H R GE (F2) Sie s o
FEAN T |

(A) Ft (B) ®RAIlwEE

(€) fe=m (D) for

S Tl T e —— & e Toafbn e
o oHEAM E

(A) =& (32) (B) sfvEo (Fa9H)

(C) T (F=) (D) 7 (YeEw)

wrER aEA (faiffn) & dm few fafire 9o § asl w1 o e s sevas

HHE W § 7
(A) TFAH (B) e
(Cy &ra . (D) =ErE
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37. In television production intensity, colour, dispersion and direction are closely

related to :
(A) shot (B) research
(C) lighting (D) graphics

38. When products are sold using designs drawn from media produects, it is

called :
(A) Promotional sales (B) Media promotion
(C) Character merchandising (D) Mediated selling

39. Direct mail advertising is often referred to as :
(A) personal selling (B) mail order
(C) junk mail (D) postal advertising

40. Which Committee was constituted in 1991 to examine and recommend ways |

and means to win over advertisers to Doordarshan ?
(A) Rangnathan Committee (B) Chanda Committee

(C) B.G. Verghese Committee (D) Mahalik Committee

T.B.C. : 23/15/ET—III 22



39.

40.

Seftfas wAEe F § wee, @, fawet ol e freR wed w4 9% A
a2 E?

(A) wife (B) i

(C) v =Hael (D) wiwas

e zaEl & faam F W 0 5 wa fE SO @ a9 A S8

wFed € 7
(A) famt dreamed (B) Hifsan veweA
(C) ofa vy (D) wream wita faea

e o @ fam W sfvsiva: BRA AW @ S S ¥ 2
(A) =fFama fawa | (B) T IRW
(C) @ z& (D) s fasm

1991 # frg FAE T A R T 41 W) 9E Sw v b quenid A famoeemed

1 favarg a9, 9@ fau U@ A ol® gEd ?
(A) TTIgT FHE (B) =& FHA

(C) @rsft. aviie wHel () wEfas
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41.

42.

Responses of readers to a published advertisement result in :
(A) purchasing power (B) preference power
(C) pulling power (D) promotion power

Gerbner identifies a true information point beyond the normal elements of

communication process. What is the point ?

(A) Destination (B) Event

(C) Message (D)  Context

In 1875, The Statesman’ was founded by :

(A) Rudyard Kipling (B) John Corbett

(C) Robert Knight (D) James Silk Buckingham
Hypothesis cannot be in :

(A) the nullified form (B) the declarative form

(C) the directional form (D) the general form
Communist media philosophy believes in using the media for :

(A) Entertaining the masses (B) Planning sound objectives

(C) Elevating public tastes (D) Counter revolutionary methods

T.B.C. : 23/15/ET—III 24



41, wEfm famr @ iy we @ whifea wn ofoms @Et S T2
(A) EORZR i GHA (B) wiafasan i &
(C) = H1 gwa (D) WA & AEd

42. mﬁWM%mﬁﬁaﬁm@mwﬁgﬁwﬁ

Y ia g ¥ ?
(A) T (B) WA
(C) H2W (D) Hed

43, 1875 # 'z V@i’ F yEem fFE w4 ?
(A) TEare fawufem 3 (B) W ®MEe I
(C) Ve 7mge A (D) | fgew afsad A
44, Frm w9 # yEEeT A& @ FHdQ € ?
(A) g ®9 # (B) s ®9 H
(C) Fomeww w9 HA (D) wHE w9 A
45. A e zei Bretatan i @ dfen & frg wEm W fawaw w@ R 2
(A) @il 1 FAeA fEar S (B) o= @rd & A FAA

(C) @it =+ THE H ARR A D) whmsifer als % AT
T.B.C.: 231 5VET—III 25 P.T.O.



47.

49.

Pavlov and Skinner popularised the stream of :

(A) Behavioural research (B) Diagnostic research
(C) Clinical research (D)  Analytical research
‘Development is a cruel choice’ is the statement made by :

(A) Elihu Katz (B) Harry Truman

(C) Denis Goulet (D) Robert McNamara

The first foreign news agency to start its operations in India was :
(A) Associated Press (B) DPA

(C) Reuters (D) TASS

The news media’s primary responsibility to its audience is to provide truthful

and accurate information in support of :

(A) Anti-establishment movements

(B) Understanding news values that influence media decisions
(C) Advertising campaigns for establishing brand names

(D) Governmental policies of revenue generation

T.B.C. : 23/16/ET—III 26



47.

48.

49.

Eea au e 3 TRy um o« wfafs € 2

(A) =aEafis wiw (B) frmes WM
(C)mmﬁmvﬁu (D) Tavémorers iy
“Tawm uw gt A § g feue wea ¥ 2

(A) sfag == (B) & 7

(€) 2| M| (D) W& Hwmm

oE H oS Hard g w3 are wem el wuen ufifs e 49 2
(A) wHfqes 99 (B) didn

(€) UaeH D) ™

AR difew &t oy sifeda & o wqm fded frafafas 8 9 fsas wods
H gud 3t wdled gua e ¥ ?

(A) g faasdt anges
(B) 99r=/ & UH W&l ®1 gumEn W Hifzsw @ favig S wwifad s #
(C) sz M w@fyg =@ & fau fass afyam

(D) TSE Feqes @1 gl Aifagl
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50.

51.

52.

53.

The Indian Constitution’s provision for the Right to Freedom of Speech and

Expression is notionally drawn from :

(A) Bill of Rights

(B) Soviet Constitution

(C) Magna Carta

(D) Universal Declaration of Human Rights

Fiske and Hartley have identified the concept of :

(A) community radio (B) - bardic television

(C) delinquent media (D) juvenile media

Editing in newspapers means the removal of .........ccccoovvvviirinerrennns in writing.
(A) articles (B) fog

(C) atmosphere (D) treatment

According to a survey, advertisements published by women’s magazines were

.................................... women.
(A) conferring status to (B) commoditizing
(C) promoting employment of (D) ethicizing

T.B.C. : 23/15/ET—III 28



50. WRE ® wfaum # amm i afverfR # o Edan F afeer = ween fEtate
/A fa ™ ¥ .

(A) sfuar fadas
(B) Wifaga =1 dfEasm
(C)ﬁmw
(D) wFa wfusrt #1 Afvas =Smon
51. fred ol wdat 3 Frefafas # @ FE Swegn Afufuifa = & 2
(A) argErfas Wed (B) =fgw Zeiifas
(C) et wifen (D) fwvir e
52. m-wﬁﬁm#a@t%ﬁ%ﬁﬁﬁm%?
(A) o= (B) HuemA
(C) @zl (D) IER
53.ﬁ$mwmmmﬁmmmﬁmﬁqﬁmﬁ%w
t?
(A) T W (B) =% TN
(C) TR &% FEE =Gl (D) Afwwm
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54. Setting the best colour and density for the printing of each shot in film is

known as :
(A) Colour setting (B) Colour temperature
(C) Colour combination (D) Colour timing

55. Corporate public relations deals with :
(A) the whole organisation (B) goods and services
(C) profits and payments (D)  publicity and propaganda

56. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

is correct ?

Assertion (A) : Radio is making a comeback as people listen to radio more

these days.
Reason (R) : Only those who drive cars listen to radio.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

T.B.C.: 23N ¥ET—II 30




54, mﬁmmﬁwgmm@mmmmaﬁm@a

o oW & 2
(A) TT1 |2 (B) T ar9H e
(C) T =fHy (D) I oEHT

55, P w1 SmdTE Prefatas # A fews dew § wied @ w2
(A) Fl HTEA (B) W& @R Hamd
(C) @ 3w i (D) wEr # wEn
56.ﬁ%fzﬁmﬁawmwammm)ﬁﬂ@'gtsaaﬁiasm‘i#.
ded # Fr ww W o ?
W(A):Mﬁamﬁﬁtﬂ%,ﬁﬁﬂmﬁmmvamwtu
HAOT (R) :mamﬁ%ﬁm%mtﬁaﬁn
(A) (A) 3l (R) B @@ €
(B)(A)dncn)ﬁaﬁ%.am(A)maamW(Rmﬁt

(C) (A) T & afF (R) ™M@ ®

M) (A) e & afF (R) T8O
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57. The'making of a film based on a novel is called adaptation, whereas a novel

based on a film is called :

(A) Adoption

(C) Spinoff

(B)

(D)

Novelization

Telecine

58. Match the List-I with List-II and give the correct answer from the codes

_ given below :

List-I
(@) Salman Khan
(b) Sunidhi Chauhan
(c) Sakshi.'l’anwar
(d) Archana Puran Singh
Codes :

(@ @) (© (@
A @ @2 @ @)
B) 1) @) @) (@
© @ Q1 @ (@)

M) 2 @ (@1 @3
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(1)

(2)

(3)

(4)

Li;t-n

Dus ka Dum

Bade Achhe Lagte Hain
Indian Idol

Comedy Circus



57. mmmmmmwmtmmmmmﬁam
A PeafEa S A M FR T 7

(A) ST ' (B) SYARTHI
(C) Tog=sT® (D) 2=l fgam

58. g1 w1 [ & mu@%ﬁﬁqamwmﬁfqﬁﬁmﬁ#

Hei-1 g1l
(@) TEEH B (1) =4 % T
(b) FHT e 2 =% &= Tn ¥
(c) WnEd T (3) sfeFa amEst
(d) @ gA foE (4) HAE 54
wHe

(@ b)) (@ ()
A 4 @ B @
(B) (1) @) (20 (4)

() 3 (1 @ (@)

M 2 @ @O @
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59. Identify the correct chronological order of the following books :

(A) Mass Media and National Development, The Political Economy of Growth,
Communication for Development, One World, Multiple Cultures,

The Internet Galaxy

(B) The Internet Galaxy, Communication for Development, One World, Multiple
Cultures, The Political Economy of Growth, Mass Media and National

Development

(C) Communication for Development, One World, Multiple Cultures,
The Internet Galaxy, Mass Media and National Development,

The Political Economy of Growth

(D) The Political Economy of Growth, Communication for Development,
One World, Multiple Cultures, The Internet Galaxy, The Mass Media and

National Development
60. PAL is telecs;sting format has :
(A) 30 fps 525 lines per frame
(B) 30 fps 625 lines per frame
(C) 25 fps 625 lines per frame

(D) 25 fps 525 lines per frame
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59. frafafas Ta® & W@ 9 & Tear WL

(A) " e e Syee 2aegie, 9 oifalema e AE MY, IR B

Taaqiz, 91 des, ufeeua Head, & $ete e

(B) & =iz fom, Sgfdva W 2geie, a9 acg, Aieevd woad, § Wieiesd

A G My, W e e dvEa TEaTEe

(C) mwm,mm,mm,amw,mm

e JvEE FaaTie, 9 difdieee sEEm Afe WY

(D) 2t fefeEa TR Sie Mg, FRFEE Wi SawTie, 71 908, dferie wed,

& szﬁzﬁaﬂ%ﬁ T dfifs we vEe Suehe
60. U@ H FEEW FrHE T ¥ o:
(A) 30 TEHLEE. 525 wEd Wl WA
(B) 30 THUITE. 625 @iz 4fd WH
(C) 25 THEULTH. 625 @A WA FH

(D) 25 UHEMLTE. 525 @Ed 9 WE
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61. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

is correct ? Give the correct answer from the codes given below :
Assertion (A) : News is news because it is news.

Reason (R) : No one tells the audience that news is the selective version

of the event that has taken place.
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
62. In camera, depth of field is independent of :
(A) focal length of the lens
(B) aperture

(C) camera position

(D) shutter speed
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61. ﬁﬁramﬁaamafwmm)mmm)f@nﬁ%nﬁﬁmﬁ%‘
red H A wue wE 3 7 A9 R w2 F f wd W A
afiFY (A) : TEER, EER ¥ e 9% FUER € |

0T (R) ;SR S s w Z3tE ¥ AR T A ¥ 6 gEER o S
gara § o el wen @ T MW w q E R

HE

(A) (A) 741 (R) & & &

(B) (A) 341 (R) 2F @@ ¥, dfF (A) # T T (R) T ¥

(©) (A) W& &, &% (R) 7o B

D) (A) Tea &, afFT (R) W ¥

6o dwm #, 2ew AF wez w1 Prefafen # & el wew W R ?

(A) FIFH oy ofF T 7

(B) T

(C) Fu W

(D) =X = 7
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63. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

is correct ? Give the correct answer from the codes given below :

Assertion (A) : Cross-media ownership in India is a reflection of global trend

in the media industry.

Reason (R) : The Indian Government is unable to withstand the pressure
from multinational companies to legislate against media

monopoly.

Codes :
(A) Both (A) and (R) are true
(B) Both (A)'and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

64. Identify the correct sequence of the following :
(A) Linotype, Monotype, Photocomposition, DTP
(B) Monotype, Linotype, DTP, Photocompésition
(C) DTP, Photocomposition, Monotype, Linotype
(D) Photocomposition, Linotype, Monotype, D'I‘P
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63, 3 o3 we § 9 won Hhrwe (A) 70 TR (R) A E ) @ A6 e & w
B W e R 2 A9 B w6 A ¥ IWm o W Wi

Afiamad (A) .y § it w@fre ditsm wm # aftaw TR W WA

- 3

STUT (R) : WRG TUEN G0 FAtE & caman diean wwEieEn @ s
T @ o A oS W T

wE

(A) (A) o (R) 3F & T

(B) (A) ar (R) 2F @ & #FF (A) +1 wer wWF (R) T 2

(€) (A) T &, @A (R) TG ¥

(D) (A) e %, ARFT (R) W T

64, Tretai@a =1 W& FH AdET ¢

(A) RS, AR, W, LA,

(B) WHERY, @Eaend, ., e

() SA., Faifiem, WHeRd, SEAEET

(D) FrEEife, @Ry, WHeET, S
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65. Match List-I with List-II and give the correct answer from the codes

given below :
List-I List-TI
(Film) | (Director)
(a) Pyaasa (1) K Asif
(b) Mughal-e-Azam (2) Gurudutt
(¢) Umrao Jaan (3) Bimal Roy
(d) Do Bigha Zamin (4) Muzaffar Ali
Codes :

@ B @
(A) 20 1) @ @)
(B) (1) 4 (2 ()
()@ M @ @
D) 2 () QO @

66. E.M. Rogers, in his theoretical advocacy of diffusion of innovation, introduced

the concept of :

(A) Developmental symbolism’ (B) Technocracy

(C) Cosmopoliteness : (D) Social interactionism
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65. @-lﬂ@-ﬂ#magﬁﬁaaﬁmawﬁﬁ&nﬂmﬁﬁwﬁmmw
HifSQ

et Hel-11
(forem) (Frdvrer)
(@) @m : 1) & @
®) TR I (2) TERd
(c) 3HUA ST (8 fawa 4
(d) = aren (4)  THAERT STl
w2z

@ B © @
A) @ O @ @
B @M @ @ @
© @ @ @ @
O @ (¢ 1 @

66. é-m.ﬁw%mﬁaﬂﬁﬁmmmﬁﬂﬁm%ﬁmmmﬂxm
& fem ¥ 2

(A) Tamramss wdidwd (B) weifiEma

(C) WRFTIEd (D) THfas Ha)
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67. The metaphor of a wired universe interlinked by a network of computers was

popularised by :
(A) Al Gore (B) Wilbur Schramm
(C) Jacobson (D) George Gerbner

68. The mathematical ratio between the vertical and the horizontal measurements

of a film/video is referred to as :
{(A) Frame ratio (B) Format ratio
(C) Size ratio (D) Aspect ratio

69. In the question given below are two statements labelled as Assertion (A) and
Reason (R). In the context of the two statements, which one of the following

is eorrect ? Give the correct answer from the codes given below :

Assertion (A) : The Public Relations exercises seldom save a company in
crises.

Reason (R) : Public Relations exercises are dubious in nature.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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67. mﬁmmmwm%maﬂmﬁam

BRT TR wE T g ?
(A) & TR (B) fawew s
(C) St (D) S TER

68, frendifed % o2 3k v wrm @ e sEfd aam F Frefataa 3 | P
FE ¢ !

(A) " ST (B) WHZ I
(C) =9 FIw (D) Frafeafa e

69. ﬁfzﬁmﬁamaﬁmuﬁm)ammm)ﬁﬁnﬁ%|3=rﬁem=ﬁ$
ddf § S w4 w9 T 2 99 R W@ w2 A W oI W W we

SfEET (A) : SEE W A @ gwe § v w1 s e e |
FUT (R)  : SFEETE WM ufed wEf H a0 €

e

(A) (A) 91 (R) 3l W&t §

B) (A) 71 (R) 3 w@t ¥, afE (A) W F@ T (R) T ¥

(C) (A) e ¥, @fFs (R) Te@ & |

(D) (A) Te@ ¥, AfET (R) T8 %
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70. In the question given below are two statements labelled as Assertion (A) and

T

Reason (R). In the context of the two statements, which one of the following

is correct ? Give the correct answer from the codes given below :

Assertion (A) : There is a decline in the popularity of the old media as new

media penetrates the society.

Reason (R) Because the ownership of new media is not centered on one

person or one organization,

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not'the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

The correct sequence of the stages in the developmental idea campaigns is :
(A) Distribution, penetration, participation, legitimacy, identification

(B) ldentification, legitimacy, participation, penetration, distribution

(C) Identification, participation, penetration, legitimacy, distribution

(D) Participation, penetration, legitimacy, identification, distribution
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70.

71.

#9 fed w3 @ o vy afuwgs (A) 7w wEw (R) G2 ™ ¥ @ 3 e &
dedf § wFW F9A W@ 2 9 R M 32 § T 3w owm wE Fiew

afTHaT (A) : 94 99 TN WA SE § S ¥ 9@ q0A qrAd w1 SR
H ez et ¥ 1

&OT (R) . FfE W WY %] SEE UE SR I U6 9 W wisd el
T

e

(A) (A) 341 (R) 31 ®& €

(B) (A) a1 (R) 3 @@ &, afF (A) =1 wé T (R) 7d 7
(C) (A) @ &, afF (R) e

(D) (A) Tem &, o (R) &8 &

fawrarers faun afvam #1 seensll &1 ' o gFs ¥ € 7

(A) faero, =i, apfigrd, v, Se=ar

(B) w&amM, dwual, wrigr, =afa, famm

(C) wE=r, Yrierd, =afE, Jum, fqam

(D) urfierd, =nfa, Sy, Team, f&Gam
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72.

73.

74.

75.

The connection between the signifiers and signified is :

(A) logical (B) arbitrary

(C) calculations (D) theory oriented

Short wave frequencies are used for radio communication of ;

(A) Short distance (B) Long distance

(C) Location specific distance (D)  Specific distance

The principal feature of marketing communication :

(A) Surplus-demand (B) Product life

(C) Hidden prices (D) Two-way communication

In newspaper parlance, ‘sacred cow’ means :

(A) highlighting an inane issue

(B) using many adjectives

(C) a favourable treatment to a story

(D) management’s favour to an employee
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79. wd® ik wdwa & 4 Fefafes dEg €
(A) wfns (B) agf=®
(C) uftwem (D) fagro-swE

73. Yzd) dun # frge fou oy o ogfd (W A® wEeE) @ oyEm s

7
(A) w7 g (B) @A gl

() &= favym =t gl (D) fafre gh
74.%@1:3:13@@&1“%:

(A)ﬂfﬂﬁa;ﬂlm (B) @R FH IF

() fot 99 D) fgErf =R
75. WAER-TA W@ B wEEel § Whs FE ad ¥ .

(A) T0 T58 H g-7g T T T

(B) @ga wifas fasoon &1 wam Hen

(C) et oft wmmeR #1 TR RS O

(D) o Fart F weeA gR R HES o
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